Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

37+2bH=

7x30=

11x5=

37x9=

6,190-6,132 =

Put these temperatures in order, starting with the

lowest.
¥ ~18 G = 0°C % ¥dg 9
°c °c °C s
lowest highest




Q7.
Here is a book shelf. One shelf holds 30 books.

(a) Sullivan has 96 books.

How many shelves does he
need to hold all his books?

(b) Lucy has 7 shelves full of books.

How many books does Lucy have altogether?

Q8.

Write the missing number to make this division correct.

85 = = 85

to the nearest 10
Q9.
Round 62,164
to the nearest 100
to the nearest 1,000
Q10.
Write the missing numbers in the boxes.
______+9______ ______+9_____.
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